}‘/ sEAsTAR | SUPPLEMENT INSTRUCTIONS
Copy Part# 742282, Rev. G, 01/2014 Page 1 of 1

TIE BAR KIT # H06003

Single Cylinder Johnson/Evinrude, Suzuki

ENGINE ENGINE TIE BAR KITS
MANUFACTURER YEAR MODEL CYLINDER | SINGLE CYLINDER | DUAL CYLINDER NOTE

TR ETIEIY 1997-T0 DATE | 70-175 HP HC5345 | HOBOOT H06002
1991-T0 DATE | 250-300 HP HC5345 | HOBOOT H06002

1996-T0 DATE | 90-225 HP FICHT | HC5345 | H06003 H06002 Min, Engine

enters 29"
1991-T0 DATE | 200-225 HP HC5345 | HO6003 H06002
1998-T0 DATE | 65-70 HP 4-Stroke | HC5345 | H06003 H06002

m 1986-T0 DATE | 115-225 HP HC5345 | HO6003 HO6002 See Fig. A2

Figure A 1 . Figuré A2

REMOVE SCREW AND
STEM WASHER| y
e
A\
A 8

=

(a
Drive Bracket Side Only  Suzuki 115/140
(Replaced by Items (use rear hole)

51,52, 54 & 55) SEE FIG A1

GREASE AREA IN
CONTACT WITH

Figure A. PIVOT PLATE
ITEM PART# QTY DESCRIPTION ITEM PART# QTY DESCRIPTION
51 961665 1 Drive Bracket Assembly 59 192126 1 Nut, Nylok® 1/2" NF, NI PL BR
52 961686 1 Spacer 60 722755 1 Stringer Tube
53 186540 1 Shoulder Bolt, 3/8" x 1-1/4", SS 61 116320 1 HHCS, 3/8" NF x 1-1/2", SS
54 010924 1 Washer 5/16" Flat 3/4", SS 64 116527 1 Rod End SS 1/2" NF
55 961704 1 HHCS 5/16"NC x 2", SS 66 113021 1 Nut, Nylok® 5/16" NC, SS, Thin
56 113529 1 Nut, Nylok®, 3/8" NF, SS 67 185901 1 FHSCS, 5/16" NC x 3/4", SS
57 704525 1 Nut, Nylok®, 5/16" NC, SS 72 113622 1 Washer, 3/8" Dia., SS
58 722545 1 Tie Bar c/w Ball Joint (HO6003)

© 1999 Marine Canada Acquisition Inc. DBA SEASTAR SOLUTIONS 3831 No. 6 Road, Richmond, B.C. Canada V6V 1P6 Fax: 604.270.7172 Web: www.seastarsolutions.com



